Y-

Sor k() ER AR B A5 R AR R 30 E BN

) 0 BIMCARE R =S a2 S E
ERaW T AR BEM) £S5 6 Ammst 5 kKm0 Pl H

1. Short Answers ({55 7). 35%

(a). Give three loop structures in C. (531} - A A AR

(b) In C, list two primitive data types, and give one user-defined data type Date that has the ficld ycar,
month and day.

(¢). In C, what is a function prototype (i (R ? [n what situation will it be needed? Explain with an
example.

(d). In C. there are two types of parameter passing ( (S B {EE). Discuss these two types with
appropriate examples.

(e).h1(l,conshjerthc\uniabkzdcclannjonxint d[10]) and int *e[10]. Describe about what kind of
data are stored in array d and array e

(). Give three main features in object-oriented programming. (#**%ﬁ*ﬁ”ﬂiﬁé|ﬁﬁ%ﬁ§+ﬂ:ﬁﬂﬁk{}%§4§?ﬁk)

(2) Ihbw/u)dLUJlnlnullclplogJanl15<11Lcu1snm,p10g1dn1(;w;WHq )7

2 What does the function mysteryl do? If n= 7531 PupdSdelOInysthIYJ what is the return value?
(10%)
int mysteryl( int n ) {
int r = 0, divisor = 1000, multiplier = 1;
while ((n > 10 ) |
if ( n >= divisor ) {
r += n / divisor * multiplier;
n %= divisor;
divisor /= 10;
multiplier *= 107
} else divisor /= 10;
}
r += n * multiplier;

return r;
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3. hAodMythefbﬂowdngcodetoInoduccthe(nnputsho“w1bean.Lmelnoperindmﬂaﬁontednﬁque&
You may not make any changes other than inserting braces (5 2LA% 5t #A KW X 2 R
ok AR ARy 0 A RS B0, (25%)

if (y == 8)

if (x == b)

printf (“EEREERE\N") ;
else

printf (“H##fHADT) S
printf ("$$$8S\n");
printf (“&&&&&\n”) ;

(a) Assume x = 5 and y = 8,
the following output is produced.
@eEEE

SSSSS
§86&6&

(b) Assume x = 5 and y = 8,
the following output is produced.

@reEea

(c) Assume x = 5 and y = 8,
the following output is produced.
@eeee
§&&&&
(d) Assume x = 5 and y = 7,
the following output is produced.
RS RS
SSSSS
§&&&E

(¢) Assume x = 5 and y = 7, output nothing.
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statements. (20 %)

X

1;

(7 %)
while (x<5);
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printf (“sd 7,

x++);

(2). Print whether a given integer is odd or even
switch (value%2) {
case 0:

(7 %)

printf (“Even integer\n”) ;
case 1:

printf (“Odd integer\n”) ;
}

(3) Find and correct the error in each the following program segments. (6%)
struct person {
char firstnamel[1b];
char lastname([15];
int age;

}

person d[10];

d[9]->firstname="James"”;
C

1{9] ->lastname="Bond”;
d[9]->age = 10;

//Set the age of the last element
5 Recursion Trace: Show the output when the function Func (36, 100) is called. (10%)
#include <stdio.h>
#include <stdlib.h>
int Func(int a, int b) {
printf ("ed sd\n",

dy
if (a==0)return b;

b);

else return Func(b%a,
}

a);
int main () {

Func (36,

100);
return O;

A4
4. Tdentify and correct the errors (including both syntax and logic errors) in each of the following
(1). Print the value from 1 to 5




